
X[0] <= 0.5
mse = 0.982

samples = 26316
value = -0.001

X[17] <= 0.5
mse = 0.682

samples = 20609
value = 0.272

True X[16] <= 0.5
mse = 0.824

samples = 5707
value = -0.987

False

X[21] <= -0.504
mse = 0.174

samples = 1124
value = -0.119

X[21] <= 1.353
mse = 0.701

samples = 19485
value = 0.294

X[13] <= 0.5
mse = 0.154

samples = 534
value = -0.054

X[1] <= 0.5
mse = 0.185

samples = 590
value = -0.179

X[18] <= 0.5
mse = 0.127

samples = 443
value = -0.077

X[31] <= 0.5
mse = 0.272
samples = 91
value = 0.063

X[19] <= -1.163
mse = 0.107

samples = 207
value = -0.117

X[7] <= 0.5
mse = 0.142

samples = 236
value = -0.041

X[16] <= 0.5
mse = 0.096
samples = 76
value = -0.051

X[19] <= -1.155
mse = 0.109

samples = 131
value = -0.157

mse = 0.087
samples = 75
value = -0.042

mse = 0.0
samples = 1

value = -1.154

mse = 0.418
samples = 3
value = -0.64

mse = 0.092
samples = 128
value = -0.142

X[1] <= 0.5
mse = 0.138

samples = 223
value = -0.028

X[21] <= -1.325
mse = 0.169
samples = 13
value = -0.202

mse = 0.161
samples = 12
value = -0.198

mse = 0.135
samples = 211
value = -0.02

mse = 0.0
samples = 1

value = -1.167

mse = 0.104
samples = 12
value = -0.128

X[19] <= -0.561
mse = 0.192
samples = 75
value = 0.004

X[12] <= 0.5
mse = 0.595
samples = 16
value = 0.397

X[21] <= -1.518
mse = 0.175
samples = 73
value = -0.015

X[29] <= 0.5
mse = 0.038
samples = 2
value = 1.067

mse = 0.0
samples = 1
value = 0.838

mse = 0.165
samples = 72
value = -0.03

mse = 0.0
samples = 1
value = 0.873

mse = 0.0
samples = 1
value = 1.262

X[19] <= -0.915
mse = 0.044
samples = 12
value = 0.07

X[4] <= 0.5
mse = 1.035
samples = 4
value = 1.215

mse = 0.021
samples = 8

value = -0.024

mse = 0.037
samples = 4
value = 0.259

mse = 0.064
samples = 3
value = 0.51

mse = 0.0
samples = 1
value = 2.623

X[3] <= 0.5
mse = 0.147
samples = 34
value = -0.499

X[21] <= -0.503
mse = 0.182

samples = 556
value = -0.162

X[7] <= 0.5
mse = 0.126
samples = 30
value = -0.544

X[22] <= 0.5
mse = 0.17
samples = 4

value = -0.145

X[25] <= 0.5
mse = 0.097
samples = 29
value = -0.515

mse = -0.0
samples = 1

value = -1.644

mse = 0.087
samples = 20
value = -0.445

mse = 0.089
samples = 9

value = -0.649

X[10] <= 0.5
mse = 0.075
samples = 3

value = -0.311

mse = 0.0
samples = 1
value = 0.519

mse = 0.0
samples = 1

value = -0.763

mse = 0.01
samples = 2
value = -0.16

mse = 0.0
samples = 1

value = -1.452

X[19] <= 1.47
mse = 0.178

samples = 555
value = -0.159

X[24] <= 0.5
mse = 0.177

samples = 493
value = -0.139

X[18] <= 0.5
mse = 0.161
samples = 62
value = -0.307

mse = 0.184
samples = 312
value = -0.114

mse = 0.162
samples = 181
value = -0.183

mse = 0.172
samples = 34
value = -0.412

mse = 0.11
samples = 28
value = -0.163

X[1] <= 0.5
mse = 0.64

samples = 17810
value = 0.318

X[16] <= 0.5
mse = 1.281

samples = 1675
value = 0.043

X[18] <= 0.5
mse = 0.637

samples = 971
value = 0.086

X[16] <= 0.5
mse = 0.637

samples = 16839
value = 0.332

X[19] <= 0.695
mse = 0.461

samples = 500
value = 0.194

X[16] <= 0.5
mse = 0.797

samples = 471
value = -0.027

X[19] <= -1.128
mse = 0.399

samples = 438
value = 0.231

X[26] <= 0.5
mse = 0.836
samples = 62
value = -0.089

mse = 0.31
samples = 108
value = 0.373

mse = 0.418
samples = 330
value = 0.189

mse = 0.642
samples = 49
value = 0.158

mse = 0.712
samples = 13
value = -0.8

X[21] <= 0.281
mse = 0.777

samples = 457
value = -0.004

X[10] <= 0.5
mse = 0.817
samples = 14
value = -0.895

mse = 0.721
samples = 334
value = 0.064

mse = 0.881
samples = 123
value = -0.191

mse = 0.519
samples = 5
value = -0.02

mse = 0.552
samples = 9

value = -1.207

X[21] <= 0.208
mse = 0.441

samples = 16262
value = 0.321

X[6] <= 0.5
mse = 6.053

samples = 577
value = 0.615

X[9] <= 0.5
mse = 0.385

samples = 11541
value = 0.353

X[20] <= 0.5
mse = 0.568

samples = 4721
value = 0.243

mse = 0.312
samples = 8862
value = 0.372

mse = 0.626
samples = 2679
value = 0.291

mse = 0.544
samples = 4279
value = 0.227

mse = 0.771
samples = 442
value = 0.409

X[19] <= 0.612
mse = 4.76

samples = 568
value = 0.564

X[5] <= 0.5
mse = 88.796
samples = 9
value = 4.444

mse = 2.994
samples = 441
value = 0.424

mse = 10.903
samples = 127
value = 1.079

mse = 167.029
samples = 2

value = 15.955

mse = 3.836
samples = 7
value = 0.608

X[21] <= 2.497
mse = 0.807

samples = 1575
value = 0.002

X[27] <= 0.5
mse = 7.874

samples = 100
value = 0.657

X[21] <= 1.395
mse = 0.791

samples = 1439
value = 0.04

X[10] <= 0.5
mse = 0.809

samples = 136
value = -0.38

X[19] <= 1.379
mse = 0.9

samples = 122
value = -0.195

X[31] <= 0.5
mse = 0.775

samples = 1317
value = 0.062

mse = 0.607
samples = 85
value = 0.069

mse = 1.049
samples = 37
value = -0.791

mse = 0.593
samples = 1096
value = 0.033

mse = 1.644
samples = 221
value = 0.202

X[2] <= 0.5
mse = 0.948
samples = 61
value = -0.644

X[30] <= 0.5
mse = 0.599
samples = 75
value = -0.171

mse = 0.911
samples = 49
value = -0.822

mse = 0.675
samples = 12
value = -0.104

mse = 0.574
samples = 54
value = -0.285

mse = 0.517
samples = 21
value = 0.169

X[14] <= 0.5
mse = 9.79

samples = 66
value = 1.308

X[21] <= 1.863
mse = 0.806
samples = 34
value = -0.755

X[15] <= 0.5
mse = 12.463
samples = 47
value = 1.72

X[22] <= 0.5
mse = 2.401
samples = 19
value = 0.365

mse = 10.162
samples = 44
value = 1.424

mse = 25.885
samples = 3
value = 6.168

mse = 0.0
samples = 1
value = 4.823

mse = 0.589
samples = 18
value = -0.053

X[13] <= 0.5
mse = 0.783
samples = 23
value = -0.937

X[18] <= 0.5
mse = 0.568
samples = 11
value = -0.295

mse = 0.733
samples = 16
value = -1.088

mse = 0.634
samples = 7

value = -0.451

mse = 0.301
samples = 6

value = -0.023

mse = 0.661
samples = 5

value = -0.837

X[21] <= 1.205
mse = 0.564

samples = 5004
value = -1.042

X[19] <= -1.108
mse = 2.512

samples = 703
value = -0.595

X[17] <= 0.5
mse = 0.573

samples = 3901
value = -1.017

X[17] <= 0.5
mse = 0.521

samples = 1103
value = -1.13

X[20] <= 0.5
mse = 0.19

samples = 163
value = -0.835

X[19] <= -0.63
mse = 0.588

samples = 3738
value = -1.025

X[10] <= 0.5
mse = 0.167

samples = 151
value = -0.869

X[25] <= 0.5
mse = 0.279
samples = 12
value = -0.406

X[7] <= 0.5
mse = 0.164
samples = 66
value = -0.959

X[19] <= -1.129
mse = 0.159
samples = 85
value = -0.805

mse = 0.156
samples = 65
value = -0.979

mse = 0.0
samples = 1

value = -0.315

mse = 0.059
samples = 14
value = -0.588

mse = 0.169
samples = 71
value = -0.855

X[13] <= 0.5
mse = 0.189
samples = 7

value = -0.791

X[14] <= 0.5
mse = 0.108
samples = 5
value = -0.06

mse = 0.146
samples = 5

value = -0.936

mse = 0.009
samples = 2

value = -0.285

mse = 0.015
samples = 4

value = -0.264

mse = 0.0
samples = 1
value = 0.416

X[19] <= -1.238
mse = 0.646

samples = 1022
value = -0.97

X[21] <= -0.451
mse = 0.564

samples = 2716
value = -1.046

X[3] <= 0.5
mse = 0.491

samples = 293
value = -1.087

X[21] <= -1.213
mse = 0.702

samples = 729
value = -0.923

mse = 0.385
samples = 74
value = -1.235

mse = 0.516
samples = 219
value = -1.038

mse = 0.91
samples = 30
value = -0.526

mse = 0.685
samples = 699
value = -0.941

X[19] <= -0.509
mse = 0.388

samples = 245
value = -1.167

X[8] <= 0.5
mse = 0.581

samples = 2471
value = -1.033

mse = 0.419
samples = 166
value = -1.099

mse = 0.298
samples = 79
value = -1.304

mse = 0.595
samples = 1855
value = -1.052

mse = 0.535
samples = 616
value = -0.979

X[10] <= 0.5
mse = 0.217
samples = 40
value = -0.844

X[2] <= 0.5
mse = 0.531

samples = 1063
value = -1.142

X[5] <= 0.5
mse = 0.241
samples = 18
value = -0.694

X[7] <= 0.5
mse = 0.152
samples = 22
value = -0.986

X[18] <= 0.5
mse = 0.159
samples = 9
value = -0.86

X[15] <= 0.5
mse = 0.268
samples = 9

value = -0.498

mse = 0.088
samples = 5

value = -0.538

mse = 0.045
samples = 4

value = -1.149

mse = 0.166
samples = 7

value = -0.366

mse = 0.008
samples = 2

value = -1.421

X[19] <= 2.546
mse = 0.128
samples = 21
value = -1.013

mse = -0.0
samples = 1
value = 0.014

mse = 0.114
samples = 20
value = -0.979

mse = 0.0
samples = 1

value = -1.605

X[3] <= 0.5
mse = 0.515

samples = 690
value = -1.189

X[22] <= 0.5
mse = 0.547

samples = 373
value = -1.056

X[29] <= 0.5
mse = 0.435

samples = 499
value = -1.231

X[21] <= 1.497
mse = 0.712

samples = 191
value = -1.074

mse = 0.394
samples = 368
value = -1.279

mse = 0.525
samples = 131

value = -1.1

mse = 0.409
samples = 65
value = -1.24

mse = 0.848
samples = 126
value = -0.988

X[20] <= 0.5
mse = 1.001
samples = 68
value = -0.854

X[11] <= 0.5
mse = 0.429

samples = 305
value = -1.104

mse = 0.343
samples = 66
value = -1.0

mse = 2.625
samples = 2
value = 3.113

mse = 0.363
samples = 164
value = -1.188

mse = 0.484
samples = 141
value = -1.013

X[19] <= -1.129
mse = 4.971
samples = 49
value = -0.155

X[1] <= 0.5
mse = 2.3

samples = 654
value = -0.63

X[8] <= 0.5
mse = 2.842
samples = 47
value = -0.38

X[15] <= 0.5
mse = 7.611
samples = 2
value = 8.759

X[4] <= 0.5
mse = 3.095
samples = 35
value = -0.019

X[17] <= 0.5
mse = 1.279
samples = 12
value = -1.207

X[13] <= 0.5
mse = 2.782
samples = 33
value = -0.208

X[3] <= 0.5
mse = 0.883
samples = 2
value = 2.379

mse = 1.37
samples = 27
value = -0.464

mse = 8.638
samples = 6
value = 1.406

mse = 0.0
samples = 1
value = 0.752

mse = -0.0
samples = 1
value = 2.921

mse = 0.0
samples = 1
value = 3.421

X[19] <= -1.244
mse = 0.363
samples = 11
value = -1.409

mse = 0.103
samples = 9

value = -1.558

mse = 0.945
samples = 2
value = -0.41

mse = 0.0
samples = 1

value = 11.518

mse = -0.0
samples = 1
value = 6.0

X[13] <= 0.5
mse = 0.345
samples = 36
value = -1.27

X[19] <= 1.614
mse = 2.394

samples = 618
value = -0.59

X[19] <= -0.672
mse = 0.307
samples = 28
value = -1.408

X[21] <= -0.25
mse = 0.275
samples = 8

value = -0.928

mse = 0.0
samples = 1
value = -0.3

X[21] <= 0.394
mse = 0.258
samples = 27
value = -1.464

mse = 0.031
samples = 10
value = -1.717

mse = 0.349
samples = 17
value = -1.256

mse = 0.0
samples = 1

value = -1.788

X[4] <= 0.5
mse = 0.199
samples = 7

value = -0.813

mse = 0.108
samples = 5

value = -0.646

mse = 0.007
samples = 2

value = -1.481

X[4] <= 0.5
mse = 2.139

samples = 498
value = -0.668

X[19] <= 1.667
mse = 3.265

samples = 120
value = -0.291

X[20] <= 0.5
mse = 2.294

samples = 402
value = -0.602

X[9] <= 0.5
mse = 1.404
samples = 96
value = -0.941

mse = 2.376
samples = 371
value = -0.57

mse = 1.279
samples = 31
value = -0.947

mse = 2.461
samples = 45
value = -0.571

mse = 0.399
samples = 51
value = -1.226

X[21] <= 1.663
mse = 8.462
samples = 16
value = 0.996

X[19] <= 2.204
mse = 2.191

samples = 104
value = -0.486

mse = 4.804
samples = 15
value = 0.102

mse = -0.0
samples = 1
value = 5.914

mse = 1.36
samples = 65
value = -0.731

mse = 3.189
samples = 39
value = -0.13


